TUESDAY CHALLENGE Interpreting Tables - Football League Tables

If you found this ok, try Task A Part 2 or for a further challenge have a go at Task B.

Task A
Part 1:

There are 4 teams in a school football league. You get 3 points for a win
and 1 point for a draw. So far these are the results from their matches:

Hinley 1 = 3 5t Johns Peel Lane 5§ - 0 Crowford
Peel Lane 4 - 4 Hinley Crowford 2 - 4 5t Johns
Hinley 1 = 1 Crowford 5t Johns 3 - 2 Peel Lane

Fill in the gaps in the league table:

Played | Points Won Drawn | Lost Goals Goals
for against
5t Johns 3 9 0 10 5
3 1 1 1 7
3 2 0 2 1 6
Crowford 3 1 10

Part 2:

In the 2018 World Cup, Group B involved Morocco, Spain, Portugal and
Iran. Here are the results of their matches:

Morocco 0-1 Iran Portugal 3-3 Spain
Portugal 1-0 Morocco Iran 0-1 Spain
Spain 2-2 Morocco Iran 1-1 Portugal

1. Which were the top two teams in the leagues?
2. How many goals did Spain score in total?
3. How many goals did Morocco concede (goals against) in total?



Task B
Part A:

There are 4 teams in a school football league. You get 3 points for a win
and 1 point for a draw. So far these are the results from their matches:

Hinley 1 =3 5t Johns

Peel Lane 4 - 4 Hinley

Hinley 1 =1 Crowford

Peel Lane 5 - 0 Crowford
Crowford 2 — 4 5t Johns
St Johns 3 - 2 Peel Lane

Fill in the gaps in the league table:

Played | Points Won Drawn Goals Goals
for against
St Johns 9
3 [
3 0 2 6
Crowford 1 10
Part B:

In the 2018 World Cup, Group B involved Morocco, Spain, Portugal and
Iran. Here are the results of their matches:

Morocco 0-1 Iran

Portugal 1-0 Morocco
Spain 2-2 Morocco

Fill in the league table:

Portugal 3-3 Spain
Iran 0-1 Spain
Iran 1-1 Portugal

Played

Points

Won

Drawn

Goals
for

Goals
against




